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1 Korrespondenz

1.1

F =
{

(x, y) : x2 − y2 = 1
}
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1.2

F ist keine Abbildung von R in R, da D(F ) 6= R und F nicht eindeutig ist.
Damit F ∩ (A × B) Abbildung wird:

A = R \ {x : −1 < x < 1}

B = [0,∞)

1.3

Injektivität:
A = [1,∞)

1.4

Surjektivität:
B = [0,∞)

2 Bijektive Abbildung

Gesucht ist F : A → B mit A = [−1, 2) und B = (4, 10].

3,752,51,250-1,25
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a = −1

b = 2

c = 4

d = 10

y = mx + n

d = am + n ⇒ m =
d − n

a

c = bm + n ⇒ m =
c − n

b

d − n

a
=

c − n

b
db − nb = ca − na

nb − na = db − ca

n(b − a) = db − ca

n =
db − ca

b − a

n =
2 · 10 − 4 · (−1)

2 − (−1)

n =
24

3
= 8

m =
d − n

a

m =
10 − 8

−1
= −2

F = {(x, y) : y = −2x + 8}
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